N of reco track vs dxy(PV) | N of associated (recoToSim) tracks vs dxy(PV) N of associated (recoToSim) looper tracks vs dxy(PV)

%) [%) %) %)
8 g ., = 8 g
e 10 © S
=4 154

E = 8 10?
H H 3
10fi 3

10

] ol g M- e » 5 SRR r.
: LT § Lol E " . P I 1 HEEEEE
il i =i i IJ ""\up, T H\\"“W
: W WH HHH H" il wt& i w' |
) L MDA O Rl NERE ﬁumu
= 5—2 —15—10 -5 0 10 O 25 g25—20—1 5-10-5 0 5 10 15 20 25 925—20—15—10 -5 0 5 10 15 20 25 '25 20-15-10 - 5 10 15 20 25
track.dxyf_’ iy XYY, (cm) 5f Jrack dxy(PV) (cm) track dxy(PV) (cm)

gfﬂptllcbtal LIbIVIDO\\I‘\)I(LL)‘P U_O’DILIIVIIV pIUlIUQIVI T___ONyriTrar_] P

v V)

IIEUI TTTLIT
ﬂramAT
N of reco track vs rainA

I

il

] 1%} 2] 12}
< < X 4
[5} [} [5] [}
8 8 8 g
} 2 e 2
10* £ 10* s 8 102
=
=3
k=]
10° 10° 10
.....
10?
o+ o +vofy o+ o 14 Y “”l
T T T T 1 BIE ‘
& & & & 41kl \l\ll \
0.9 114 [ i
095 I Al ook RIS M o. L | ‘|| {
-1 08—06—04—020 02040608 1 =1 08—06—04—020 02040608 1 =1-0.8-0.6-0.40.2 0 0.2 08 1
track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
N of reco track vs dz(PV) N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper tracks vs dz(PV) |
R g 2 2
Q [} [=] é
g s g g
= o o E
10°E Z f:‘g g
E =
=1
k=]
10°E
10%F
o v e E . . e =]
g g ||| ml" : VI‘ l|||y g g
o o 1 o o
1 i 4 |
SR IS L |
=30 —20 -10 0 10 20 30 0 0 %0 -20 —10 0 10 20 30 20
track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper racks vs dz(PV) |
2 E . L 2 2
S : S S S
S I . . . . o g g
i S S S A S Rl 2 A S A $
: =
. 3
. 5
LI e AR R SRR EEE o EIO e SR EE LEEELEL EEEEEEE T
. - . . ..
N oia . N ) . .
[ - : s : B
Q *+ h e f =] Q *+
g HEIMIIH”IH IH MIII |||“H,I|I : '!‘,]I!II!II“"M||‘|Fll| : :
o | o gl o o
1 -0.5 0.5

|||£J’l..|||iﬂﬂm|

track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm)

—1 05 05 = 05 0 05



	Contents
	Page 1


